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Company Tax R 135 billion

@
Personal Income Tax R 154 billion R 79 billion

Company tax by industry
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52 446 tax payers
Earn less than R1 000 000 + Income
Contribution: R 37 billion

S - - 1011000 tax payers
Earn less than R 200 000 - R 1 000 000 Income
Contribution: R 89 billion

S - 1339 691 tax payers
Earn less than R 100 000 - R 200 000 Income
Contribution: R 26 billion
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Revenue

Total: R580 billion Other Revenue R28 billion Secondary Tax on Companies R15 billion

Fuel Levy R29 billion Excise Duties R21 billion
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R167 billion
deficit

Expenses
Total: R747 billion

Central Financial

Government Administrative Social Services Justice, Crime Economic Services Direct Charges
Administrator Services Prevention & Security and Infrastructure and Provincial Share

R 52 Billion R 60 Billion R 140 Billion |[R 102 Billion }[R 82 Billion R 311 Billion
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* Did you know?

If the government wanted to fund the

deficit by increasing taxes, they would
have to increase all taxes by 30%.
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